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1. Does each graph represent a function? Explain.
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2. Is the relation a function? Explain.
Domain {0,1,2,3} Range {9}

3. Determine the domain and range of the function.
y=-(x-3)"+2

4. Find f(3) for the function f(x) =2(x - 3)(x + 1)

5. Determine the vertex of each quadratic function by completing the square. State
whether the vertex is a minimum or maximum.

f(x)=-3x*—18x +2



MCR3U
Mrs. Uehling
Ch 1 Review Sheet
f(x) =Y x*+3x+ 10

6. The monthly profit, P(x), of a sportswear company, in thousands of dollars, is
represented by the quadratic function P(x) = -3x% + 18x — 2, where x is the amount
spent on advertising, in thousands of dollars.

a. Determine the company’s monthly profit.

b. Determine the amount spent on advertising to achieve the maximum
profit.
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7. Solve 18x* — 3x — 1 = 0 by factoring.

8. Solve 2x* — 6x + 1 = 0 using the quadratic formula. Give exact answers (leave
with square root in answer)

9. Use the discriminant to determine the number of roots for 1.8x*—2x—-1=0.
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10. Write the equation for the quadratic function given the x-intercepts 5 + V3 and
contains the point (4,2). Express in standard form.

11. A small rocket is launched. It reaches a maximum height of 120m and lands 10m
from the launching pad. Assume the rocket follows a parabolic path. Write the
equation that describes its height, h meters, as a function of its horizontal distance,
x meters, from the launching pad.

12. Write the equation of a quadratic function with only one x-intercept at -1, and that
passes through the point (0,5).
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13. Determine the coordinates of the points of intersection of y = 2x*+x -2 and
y=4x-17.

14. Determine the number of points of intersection of y = xX*—x+5andy=5x—4.

15. Determine the y-intercept of a line that has a slope of 7, and that is tangent
(touches at one point) to f(x) = 4> —x+1.
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1. Does each graph represent a function? Explain.
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2. Is the relation a function? Explain.
Domain {0,1,2,3} Range {9}
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3. Determine the domain and range of the function.
y=-(x-3)+2

verley (3, 2)
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4. Find f(3) for the function f(x) =2(x—-3)(x + 1)

((3) - 2(3-3)3+1)
= 2 (o))
= 0

5. Determine the vertex of each quadratic function by completing the square. State
whether the vertex is a minimum or maximum.

f(x) = -3x" — 18x +2
= 3 (xZtly) *A
s -3yt x + (3) NOWEE
L3 (xZe Gx +(3)°) - (3)(3)° +a
-B ¥+ 3)° + a7 +2
= -3(x+3)" 29
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fix)=Vax*+3x+ 10
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6. The monthly profit, P(x), of a sportswear company, in thousands of dollars, is
represented by the quadratic function P(x) = -3x* + 18x — 2, where x is the amount
spent on advertising, in thousands of dollars.

a. Determine the company’s monthly profit.
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b. Determine the amount spent on advertising to achieve the maximum
profit.
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7. Solve 18x* — 3x — 1 = 0 by factoring.

1B¥x?% - 3x -1 =0
(\8)(‘7' ~ s+ Bx — D=0

b (mx~1) = (3% =€
(OX*‘\)(??X‘I) =0

(hx t1 =0 3x-| =0

= - Ry = |
= _
x =~ e
8. Solve 2x* — 6x + 1 =0 using the quadratic formula. Give exact answers (leave
with square root in answer)
X = -ls & \r\az—-”cac_

= & b:=-G c=I

2o
x= —(-L) ' J W24
2(2) -(”ﬂ
2, = J 3L-8 3
l_f.
S LtJae 3% ]9
Hf 2

9. Use the discriminant to determine the number of roots for 1.8x*> —2x — 1 =0.

a-1L® b--2 c=-l
b® -4 ac
L =) -H (L)
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10. Write the equation for the quadratlc function given the x-intercepts 5 + \3 and
contains the point (1], 7) Express in standard form.

L (x) = a (x-)x-5). 73)( x-5- f)
= x ~5+93){ X~ 3
- 0 (x-5+J3)(x-5-T3) Fed =it o
= o1 (x 2-5-J3¢ -5t J3x 2573,
i (L‘) Es 3— ) %= \ ( 2
-1 (¥ —10X% +);L)
5. a(u-5+J3)4-5-03
=_y? _
2-al1+3-J3 -3)
A= a(-2)
a = |
11. A small rocket is launched. It reaches a maximum height of 120m and lands 10m
from the launching pad. Assume the rocket follows a parabolic path. Write the
equation that describes its height, h meters, as a function of its horizontal distance, >
x meters, from the launching pad. R (0,0)
L0x) » & (x-rYx-5)  ere]
= alyx-0Xx-10 | g
n vev
. ( x Nx—10) i e o
()= -H8(x-9)* t1n0
£(s)= 120

12. Write the equation of a quadratic function with only one x-intercept at -1, and that
passes through the point (0,5).

£ (x) 1 aa(i;:)fgz;?l) L) = ><+\>[xﬂ>

L(0)=5 ISKHISZ
0) =

5 - o (0+)(0+4!)
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13. Determine the coordinates of the points of intersection of y = 2x* +x -2 and

y=4x-17.
2 Uy -7 HX+S =0 ~ X+ =0
S AXT4ANX - A& Sy <5 x =
- A? 4 y-Hy-& =120 - 4= 400
__a\xl_ax +5 =0 Z = -3
= ‘Q ~ Sy = ‘S: "',.).
W—;x2~5x+;x+5=o J (z> (%)
(\9\ - 5\() R (Q\y-k-?) - 2.S ~ §: -
= -7
~><(a?><1—5) . ,;Lsu-S) 0 -S
(&)ﬂ—S)( ><—H) = (l —5> ( = ) ;'7)
14. Determine the number of pomts of intersection of y =x*—x + 5 and y = 5x — 4.
yz-yft-S:S)(—"‘ b“"’laﬁ,
X2~ x —Sx +5+4 =0 (-L)* - H(‘)(CD
“lx £ =0 - 30 - 30
o=\ b-=-0b c=9 - O
4 PoL

15. Determine the y-intercept of a line that has a slope of 7, and that is tangent
(touches at one point) to f(x) =4x* —x + 1.

0= b®-Hac

= ") 4k "
é ) o= (-3 - 4(4)(I- &)
He® =x + 1 =T+ ke O~ @Y - 1L(]-4e)
Hye " =+ =% -k =0 ~ LY -l + b
Hy® - By + |~de =0 A
. - “HE= btz
x =g C= |-
o b Y



